

การบวกเศษส่วน (3)

จงหาคำตอบ

ตัวอย่าง $\left(-8\frac{1}{7}\right) + \left(-2\frac{2}{7}\right) = -10\frac{3}{7}$

1) $\left(-7\frac{1}{5}\right) + \left(-3\frac{2}{5}\right) = \underline{\hspace{2cm}}$

2) $\left(-11\frac{1}{9}\right) + \left(-8\frac{7}{9}\right) = \underline{\hspace{2cm}}$

3) $\left(-2\frac{1}{11}\right) + \left(-5\frac{3}{11}\right) = \underline{\hspace{2cm}}$

4) $\left(-3\frac{3}{13}\right) + \left(-7\frac{2}{13}\right) = \underline{\hspace{2cm}}$

5) $\left(-14\frac{2}{7}\right) + \left(-5\frac{1}{7}\right) = \underline{\hspace{2cm}}$

6) $\left(-3\frac{1}{15}\right) + \left(-5\frac{3}{15}\right) = \underline{\hspace{2cm}}$

7) $\left(-10\frac{2}{9}\right) + \left(-11\frac{2}{9}\right) = \underline{\hspace{2cm}}$

8) $\left(-6\frac{8}{15}\right) + \left(-56\frac{3}{15}\right) = \underline{\hspace{2cm}}$

9) $\left(-7\frac{3}{8}\right) + \left(-51\frac{1}{8}\right) = \underline{\hspace{2cm}}$

10) $\left(-8\frac{1}{8}\right) + \left(-90\frac{3}{8}\right) = \underline{\hspace{2cm}}$